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Example No (3)

* Determine the vertical deflection at joint C of the truss shown in Fig. Sng= o4
° . Cesf= o-
below due to a temperature dropof 8 C in members . 5.7 -} 2.3 8
e -2¢

AB and BC and a temperature increase of 30°C in members AF; FG; GH.

and EH. Use the virtual work method.

3 2

cCr
4at3m=12m

o= 12105 ¢

; ;Je--'nT Mithe o

: |
o 51

Member — L(m)  AT(C)  E(N)  F(AT)L(NCa)
3

NS o AB -8 0.667 -160
%= BC 3 -8 0.667 -160

fr = =-540-%s AF 375 3 0833 93]
. FG 375 3 -0.833 -7

0-83 GH 375 30 -0.833 -9
S EH 3.75 30 ~(.833 -93.7

Y. F(AT)L = ~4068

Be = L arel

1(Ac) = F(ATIL
(1 kN)A¢ = 12(107)(-406.8)
Ac =-0.00488 m
Ap =488 mm |
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Example No (4)

SNe = b =t
Determine the vertical deflection at joint D of the truss shown in Fig. below K
if member CF is 15 mm tog long and member EF is 10 mm too short. Use ]
the method of virtual work 4
AN <
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Y(E =f CF 15 —1 —15
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= 25
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